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Note : Answer questions from all Sections as per 

instructions. 

 Section—A  

Note : Answer any two questions from this 

Section in about 500 words each. 2×20=40 

1. Outline the steps involved in estimation of 

National Income by income  method. How is 

income method different from value added 
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method in National Income estimation ? 

Also list the precautions to be kept in mind 

while measuring National Income using 

income method. 8+8+4 

2. Derive the labour demand and labour supply 

curve under classical approach. Explain the 

relationship between real wage, money wage 

and labour employment. 15+5 

3. Explain the importance of monetary policy 

for an economy. Discuss the objectives of 

monetary policy. 10+10 

4. Explain the consumption function in a 

three-sector economy. How is equilibrium 

level of income determined in three-sector 

model ? Explain  with the help of a diagram. 

     10+10 
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Section—B 

Note : Answer any four questions from this 

Section in about 250 words each. 4×12=48 

5. Explain the concept of Production Possibility 

Curve (PPC) with the help of a diagram. 12 

6. Explain how circular flow of income takes 

place in three-sector model. 12 

7. Discuss the concept of multiplier. What are 

its limitations ? 12 

8. Explain the changes in equilibrium income 

when government sector is introduced. 12 

9. Differentiate between Balance of Payments 

(BoP) and Balance of Trade (BoT). Explain 

why Balance of Payments always balances. 

8+4 
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10. Differentiate between Classical and 

Keynesian approach to output and 

employment.  12 

11. Discuss Keynes’ theory of demand for 

money.    12 

Section—C 

12. Write short notes on any two of the  

following :  2×6=12 

(a) FDI and Portfolio investment 

(b) Problem of double counting 

(c) Measures of money supply 

(d) Bank rate and Repo rate 

 

 

 

 

 

 



 [ 5 ] BECC–133 

A–218/BECC–133 P. T. O. 

BECC–133 

dyk Lukrd (lkekU;) 

(ch- ,- Mh-) 

l=kar ijh{kk  

twu] 2025 

ch-bZ-lh-lh-&133 % lef"V vFkZ'kkL= ds fl¼kUrµI 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % funsZ'kkuqlkj lHkh Hkkxksa ls iz'uksa ds mÙkj nhft,A 

 Hkkxµd  

uksV % bl Hkkx ls fdUgha nks iz'uksa ds mÙkj yxHkx 500 'kCnksa 

(izR;sd) esa nhft,A 2×20=40 

1- vk; i¼fr }kjk jk"Vªh; vk; ds vkdyu esa 'kkfey pj.kksa 

dh :ijs[kk rS;kj dhft,A jk"Vªh; vk; fu/kkZj.k esa vk; 

fof/k ewY;of/kZr fof/k ls fdl izdkj fHkUu gS \ vk; 
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i¼fr dk iz;ksx djds jk"Vªh; vk; dks ekirs le; j[kus 

okyh lko/kkfu;ksa dks lwphc¼ dhft,A 8$8$4 

2- ikjEifjd n`f"Vdks.k ds vuqlkj Je dh ek¡x vkSj Je ds 

vkiwfrZ oØ dh O;qRifÙk dhft,A okLrfod etnwjh] 

ekSfnzd etnwjh vkSj Je jkstxkj ds chp laca/k Li"V 

dhft,A   15$5 

3- fdlh vFkZO;oLFkk ds fy, ekSfnzd uhfr ds egRo dks 

le>kb,A ekSfnzd uhfr ds mís';ksa ij ppkZ dhft,A 10$10 

4- rhu {ks=ksa okyh vFkZO;oLFkk esa miHkksx Qyu dh O;k[;k 

dhft,A rhu lsDVj ekWMy esa vk; dk larqyu Lrj 

(equilibrium level)  dSls fu/kkZfjr fd;k tkrk gS \ 

fp= dh lgk;rk ls le>kb,A 10$10 

 Hkkxµ[k  

uksV % bl Hkkx ls fdUgha pkj iz'uksa ds mÙkj yxHkx 250 'kCnksa 

(izR;sd) esa nhft,A 4×12=48 



 [ 7 ] BECC–133 

A–218/BECC–133 P. T. O. 

5- mRiknu laHkkouk oØ (Production Possibility 

Curve) (ih-ih-lh-) dh vo/kkj.kk dks ,d fp= dh 

lgk;rk ls le>kb,A 12 

6- f={ks=h; izfr:i esa vk; dk pØh; izokg dSls gksrk gS \ 

      12 

7- xq.kd dh vo/kkj.kk ij ppkZ dhft,A bldh lhek,¡ D;k 

gSa \     12 

8- ljdkjh {ks= ds lekos'ku ls larqyu vk; esa gksus okys 

ifjorZuksa dh O;k[;k dhft,A 12 

9- Hkqxrku larqyu (ch-vks-ih-) vkSj O;kikj larqyu  

(ch-vks-Vh-) ds chp varj dhft,A crkb, fd Hkqxrku 

larqyu ges'kk larqfyr D;ksa jgrk gSA 8$4 

10- mRiknu vkSj jkstxkj ds fy, ikjEifjd vkSj dhusfl;u 

n`f"Vdks.k ds chp varj dhft,A 12 

11- eqnzk dh ek¡x ds dhfUl;u fl¼kUr ij ppkZ dhft,A 12 
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Hkkxµx 

12- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ fyf[k, % 

2×6=12 

(d) ,Q- Mh- vkbZ- (FDI) vkSj izfrHkwfr fuos'k  

([k) nksgjh x.kuk dh leL;k  

(x) eqnzk vkiwfrZ ds eki  

(?k) cSad nj vkSj jsiks nj  

× × × × × 

 

 

 

 

 

 

 

 

 

 


